Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER - | « EXAMINATION - WINTER 2012

Subject code: 310002 Date: 10/01/2013
Subject Name: Applied Science - I (Physics)
Time: 10.30 am - 01.00 pm Total Marks: 70

Instructions:
1. Attempt any five questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic

Q.1 (a) Write S.I Units of following quantities: 5
(1) Velocity (i1) Acceleration (iii) Time (iv) Power (v) Force

(b) Explain the phenomenon of surface tension on basis of molecular theory. 5
(c) Calculate the least count of micrometer screw gauge having pitch of Imm 4
and number of divisions are 50 on head scale.
Q.2 (a) Derive the expression T=rhdg/2cos0 for surface tension. 5
(b) Write short note on Physical balance. 5
(c) Write applications of ultrasonic waves. 4
Q.3 (a) Write short note on Acoustics of building. 5
(b) Write laws of refraction of light. 5
(c) Explain interference of light. 4
Q.4 (a) Derive the formula of magnifying power for simple microscope. 5}
(b) Ifthe speed of sound in air is 330m/s and frequency is 330Hz, then 5
calculate the wavelength of sound wave.
(c) State properties of beta rays. 4
Q.5 (a) Write short note on nuclear reactor. 5
(b) Explain the piezo-electric method to produce ultrasonic wave. 5
(c) Define: (i) cohesive force (ii) adhesive force. 4
Q.6 (a) Write applications of X-rays. 5
(b) State properties of alpha rays. 5

(c) The half life time of a radioactive element is 60 days. Then find out its 4
decay constant.

Q.7 (a) Write five names of derived quantity. 5
(b) Write applications of Laser. 5
(c) The glass have the refractive index of 1.5,  if speed of light in air is 4
3x10® m/s then find out speed of light in glass.
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